Ho

© 0N Ol WN P

'Z0tR'7t &ff ot Z0}f? T3 LIFEME=ALES 14,000 1 14,000
108219 =& rAR=ga (St MEx 14,000 1 14,000
10CHE @I Ol 7t 7] QIZHEAZE o 7t 7| xo|gt=4l3t 12,000 1 12,000
10CHE {2 MA 28X O|0F7| T2H AT T 2R RE | 222 AH 16,800 1 16,800
10CH 2t S5t= Hat R O|OF7| O| x| Hotg g 13,000 1 13,000
118 1389 2% =AY =4 13,000 1 13,000
128 319 7| O|E O/F ZEEFLIO 12,000 1 12,000
1695 LIF & QHC| J2mA ASFL[ O] 15,000 1 15,000
25t7| o8 EM T AN E =EHsI2A 13,000 1 13,000
48| A SN =4 13,000 1 13,000
621 Huo| & delg| CHE 10,000 1 10,000
8282 LIE RFE&= ¢z Ol &+ J0|ESA 12,000 1 12,000
Al A| O] Z[0|= =M 13,000 1 13,000
DEEP & A W21 e 17,000 1 17,000
DKEIYEIRICE Hi= Ho| BE Z4o| HA} AA HE R A2 A= 40,000 1 40,000
Go Go 7H7t=Z#= 33 : He|H 40/F o2& 16,800 1 16,800
Go Go 77t Edl= XHAEAL 8 H= &S} ZF7| or2= 16,800 1 16,800
HIGH d}0| A 71X e 17,000 1 17,000
KEEo| HAA itz 7 R elisy STUFL[ O] 13,000 1 13,000
The Champion 2024-2025 : R 85T 710|E& |$3F ¢ Q4 A 0| C| Of 35,000 1 35,000
who? special Z 21X} AEE|H CHAto] 210] 15,000 1 15,000
who? special F3 7% =[x 2 CHAHO1 20| 15,000 1 15,000
who? special 0[ZQl O&i| A CHAFO{ 20| 15,000 L 15,000
Who? St=At : EHE FE Z = CHAROI 210] 14500 1 14,500
Who? StAb : SHE A= CHAFOJ 2I0| 14,500 1 14,500
Zt=Ct2t Op AP TR 5 ZHOFX| rare b AAE 13,000 1 13,000




7H4 Sl R H 22 MK, ZHE 2sla LM E JHRALER 13,500 1 13,500
7h2 g ojo| = M7= 12,000 1 12,000
7t2 F0Of Atx A==l &0l 13,000 1 13,000
7120| 2X| Q= LR g+ HHE A 10,000 1 10,000
7120| Z0t otol= Cf 0 &= 9,500 1 9,500
ZetmtaA i A YA HE|l= 18,000 1 18,000
#@7| LtZ 5= Ao AMXH SEF=LH O 11,000 1 11,000
Ak Mozl 7| = 12,000 1 12,000
Ze 2 g Het M 020l 13,500 1 13,500
FAPN, d=¢l Ct=4d 13,000 1 13,000
TARF 2 OE= Hal 17,000 1 17,000
a8 etor F B O| >4 0f shelof| & 16,800 1 16,800
a@’d2| o|s| A OF A H TYAEEA 16,800 1 16,800
TRZ| 7|2 M 29 E= 13,000 1 13,000
2O X| =t HA7 LtQ S o= LEol=0{ 20| 16,000 1 16,000
Z= Mk 2delg AR S35 19,000 1 19,000
JHTte| A Of7| CtO|2 M7iolHtEt 13,000 1 13,000
40l 3 HELIE HEH 2 QEIME 15,800 1 15,800
HHO| ZotR 02 = 15,000 1 15,000
A0lE =47 A0 OF £ H] 12,000 1 12,000
Aoz 2472 ARO| O & i 13,000 1 13,000
HE0|= qlaf wstot X NS 16,000 1 16,000
el fHetet X|F@o| &+ X8 & ZL|{RHK 9,500 1 9,500
HAALZ2 O|X| OTH GAF =2 mtnmn O|d- 4 X[0} AAHF|= 13,500 1 13,500
HAYO| B8, 1 F2HY! 8% Mol=a 14,000 1 14,000
HALHO| HE ERA nefrtel gl = A2 13,000 1 13,000
2’82 Blof F&= Or7tE dF5 QLR 13,000 1 13,000
H2w0| 28F & ot & 0[0f7| Capshd HEotEg] 15,000 1 15,000
X et =Xt LR 252 700|524 16,000 1 16,000




aef 28 7| MAaH =l 14,000 1 14,000
nef= f HCHE St i =lel o L] 13,000 1 13,000
gzt S0[E7| Z0]of OF 2 ] 13,000 1 13,000
054 = Fakkt Ol=& He 12,000 1 12,000
okt X|=ot M & o= g5 LS 20| 17,000 1 17,000
Y0 A xls H| XY 13,500 1 13,500
nyo| Al FAZ 2|gL CHFSEA| FEL g1 O| X| 14,000 1 14,000
nentell et ez CHE 10,000 1 10,000
nFHE2 o WIILte? EfL|O} 20|E X 2 13,800 1 13,800
nE ZNel H Y X H ol 3 =4 13,000 1 13,000
NFERX2[7F 0[=0| FaE- H| & A 12,000 1 12,000
= Ms Weto| A|ZHE LT 223 Mol= & 12,000 1 12,000
= A2 Az S e | 14,000 1 14,000
SES et Z20Y0| QLA 0|2%h sI21Y0|ESHT| [BEZ|L 13,000 1 13,000
fetoE $otH 7| =5t0 2 et 7| U= =2 = 10,800 1 10,800
Y3tE ol Y AZtstin 13,500 1 13,500
o Hof, ™ 27 Z| 20| oA 13,000 1 13,000
| st MS2 Z ot ] E= 12,000 1 12,000
= gt MS3 ZZot HE2X 12,000 1 12,000
THIHAICEO NS MAH2IF=L[ O 13,800 1 13,800
0/ A 2 M 2C|E (§AET HFod= =1=LISI 12,500 1 12,500
TOlz AT 3. oF AlGE Hhod=y S ot XY 12,500 1 12,500
T0j= AE 4 0= 7| = S dot XY 12,500 1 12,500
TO0lz2 B8 ARA 42 21|18 Fofet st24 2 X 12,000 1 12,000
ZTUT[-AY HE =L ool B 35,000 1 35,000
T2, FA0| 2X Lt do|=x SO O H 15,000 1 15,000
X2d OjAaH F AE|E Z2t0|0f AEFL[ O] 16,000 1 16,000
HHE 1 Hhol = SAO2RE 15,000 1 15,000
HEA E2=2 & ZHAIHHE AFX| 2 shlof| & 16,800 1 16,800




T A ARGIEO| ZHCE 2 Hsa E= 13,000 1 13,000
FHAE gtot &£ 2tH JHA| 2 O|Mg A &5t A 12,000 1 12,000
1 =2, ol &t a2 O|Xtdl HE|Y =i 17,000 1 17,000
O g A 2Ol HA a8 Ha 17,000 1 17,000
dei e MES q2s A 10,000 1 10,000
17|28 0= XHED| 1 O|l=& fe2lstn 12,500 1 12,500
7217|525 10F AHEY| 2 O|l+=& 2|ztn 12,500 1 12,500
717|285 & X7 3 O|l=& fe2lstn 12,500 1 12,500
712 BE AR AT A A[OF FL Ol dHA 13,000 1 13,000
7| BE AFR A2 M A|OF FLIO| AL 13,000 1 13,000
713 B AFR A3 M A|OF FLO A GAL 13,000 1 13,000
7% B$E AR M A|OF FLIO| AL 13,000 1 13,000
7|58 99 21K A 2 SRS FLIO| AL 13,000 1 13,000
7120t Lo FO|4g O|gFot 0 ESA 9,500 1 9,500
7|= =t Ot0|& He|7|H 2= 2 12,000 1 12,000
719LtR? AEL| AD0|A Mol=a 15,000 1 15,000
7| ™o 24gt HFaH 7| otEx5 13,000 1 13,000
ZnE0| 12U Mad =] 13,000 1 13,000
Hgro| Ehl Al=0] =M= 17,000 1 17,000
MR 2 E 52 Ha 8,500 1 8,500
nEE N=EE ALY ] - Melea 14,000 1 14,000
N0 s 2O ALAE & M Z = He|Alof o|of=x 18,000 1 18,000
norsC7t HE otdS SHE =730 AAE 18,000 1 18,000
3858 94 =78 Mol=a 15,000 1 15,000
SK[Q| KFA X|OFEH 1007H O XH 2| 12,000 1 12,000
Eail old= OF 2 ] 13,000 1 13,000
Bies ZEE ZEH AAE 13,200 1 13,200

2 4= 2 i S| 22 0|24 16,000 1 16,000
=O[ AtetRlE npSis otETS 11,000 1 11,000




2UA7| M&el H|H g2 AXZO0{ZO| 11,700 1 11,700
L= 80 O3 0|7t OfL Ok At LEQI=0 20| 15,000 15,000
L= L= gatd AMEA Z22l= 0|ot7| 15,000 1 15,000
L= SSotCt x| &t HE= 13,000 1 13,000
L= =0 =430 =otE | 12,500 1 12,500
L= 25E HAS 2HEeL o SEEQF FHEA o Eeld 19,000 1 19,000
LIS0| & W J& of£dY st Mol=a 9,500 1 9,500
LiQf 49| 0|= o2 7|Ct2| 13,000 1 13,000
Lio| =72 H| d= A L2 R | X} 18,000 1 18,000
Lto| 204 L|Z2tA SHO|'Hs [ZE|J§A 20,000 1 20,000
Lio| £& z[otE Mole=a 15,000 1 15,000
Lto| @ &8t E0[3 ZFRO0fAE =3 14,000 1 14,000
Lol A X8t +=¢ MaX| 2| DAE =& 17,000 1 17,000
Lto| F 0O A5 @l Hal 17,000 1 17,000
CHOPH L) 001 A A =0(Z3 = DIt 14,000 1 14,000
== AX|T Hi & O ZH0{El0| 17,000 1 17,000
EL S N e AAIO 2tUHE EEIfFE 16,800 1 16,800
S0 ZOtX| 88 6 =20 CHAROI 210] 13,000 1 13,000
&5t o2 FEl SA =N E28 12,000 1 12,000
i OfSCHE & Z0ojof =Hst2A 10,000 1 10,000
Lj QI X|oto] L= 1 ol o|R2|A, W AADEH |H|BA 14,000 1 14,000
L XI5 =X A7 ot 7te[Lt ROt MNES(F) 17,000 1 17,000
L &5 =0] AR} eSS 2| ENHE 13000 1 13,000
W7t X| 7 E ArESH= B =, n240[0F7| 15,000 1 15,000
WSO = SRE 7 2= FLIOJ B At 13,000 1 13,000
SO 2 dteds= &7 x2= FLIOJ L G AL 12,500 1 12,500
WSO =2 Ml &7 2= FLIOJ B At 12,000 1 12,000
A2 255 &7| X2 FLIOJZ G AL 13,000 1 13,000
== Hi= 5 | 10,000 1 10,000




o Ao =& MEA ZH| ot 13,000 1 13,000
e AL SA| HEA ZH oty A 13,000 1 13,000
o EOto| BhEE HEA ZEH| ot A 13,000 1 13,000
Hah Hojz &5 ot delzt AAE 8,500 1 8,500
Ho|A Adl= HS M0|, Ao, 0[50 |ME A 14,000 1 14,000
HojlA g AlZt F32f |G| o8| &l =4 13,000 1 13,000
Ho|A S2{F= Chttet & 454 HAEHZ 18,000 1 18,000
Ho| ofE0f L7t E= ey pSg=pmi=s 14,500 1 14,500
Ho| & 27 LA | 13,000 1 13,000
Ho| &0 o™ by O] == | 13,000 1 13,000
7t 7|1 210| [ =0| E& ¢ NEL HA| EIH L Q14 o A4 13,300 1 13,300
L7t 2|0 E7 EHF =ots4| 12,500 1 12,500
L7k AO| = = 5! 7IEE M2 HE2X 12,000 1 12,000
' QFOHIME EHHY & -hARA olg Op=4 12,000 1 12,000
=S50 2tX| Orzt =3 =4 13,000 1 13,000
S X[0t 2fst 18 MENZ LIS =EHStA 14,000 1 14,000
w1 HO|X| Q= ool o AHA =S 19,000 1 19,000
TR A A FA|FA S BPRO =0 SHE 12,500 1 12,500
SOi= 1302t At e 2 K] 13,000 1 13,000
LI7|Z2 Op2|Of AEHY XL [F35 19,000 1 19,000
SZF A =33l == 12,000 1 12,000
EER K] IR AMAE 16,800 1 16,800
ER=R-gu ot 2 7| = 16,000 1 16,000
Shat =G H 7HE HEtHA0{ZI0| 13,000 1 13,000
SYUEo H Y Z2Aas H &4 13,000 1 13,000
=2 gL otg g | 14,000 1 14,000
CHLEZOff 20| ™ T =4 13,000 1 13,000
CH cHot OFA O|g & NS 16,000 1 16,000
CH TS &AM A= SHE2 B ZTAL 17,000 1 17,000




Mot o2 o2 S fe= Zotef AHZ|= 12,000 1 12,000
B+ 00| o|el= = 13,000 1 13,000
SO 1~8H NE e g7 f=HSRA 127,600 1 127,600
SHH[ZEE SHX|SHA| S L bSO L] 12,000 1 12,000
EEE RE 5i2e 2 8,500 1 8,500
Al M A A oA SHcHH OLSCH2AIR = 19,800 1 19,800
ZotF1 H/US HO|Of faMel Of e A I L 10,800 10,800
=& T FM=Z Hal 12,000 1 12,000
=0 AtepZle S otEx5 13,000 1 13,000
== O & eSS SEEA 16,000 1 16,000
=H0| = T2 = 13,000 1 13,000
Y a8z STFL[O] 15,000 1 15,000
S=1t ot oo 2| Anfd EfLF 77HIE L HELG LY 15,000 1 15,000
SEE 5Lt o 200K 52+ Ha 8,500 1 8,500
S0 dZoa 52& He| 8,500 1 8,500
40| &7]= 7|12 O|==3] IS A 12,600 1 12,600
= 2w Oto] CHHIE Z Q7| A =23 14,000 1 14,000
S5 A HEHS = Hal 15,000 1 15,000
EE O HE 5 SHE 13,000 1 13,000
C|=L] TA} QIAIO| = OF2 2 HL d& Ol2&H 13,800 1 13,800
Cl=L| TAF QIALO|E OF2 2 cLEs Rl OhlE2A 12,000 1 12,000
5=k OfALS| 5 Zd Mt QIX| 2 Al 100 Mol = 2| & 17,800 1 17,800
X TX| LY EX] 52E S QAL 11,000 1 11,000
[ =X ot o 520 OLO|Ml = 9,000 1 9,000
&, LRCH Zd Rt OO = 12,000 1 12,000
S=0| 2H 6 Z=0| == 13,500 1 13,500
S5 7| & NEWELE CHAFOJ 2I0| 16,800 1 16,800
2 2] e A =AY 22N 17000 1 17,000
2to|= x{Zl Ol | 13,000 1 13,000




WOt Z 2= MAAL O]oF7| Teta| HEs 17,000 17,000
g0|= O|AHZ] BEAIRA 10 U PNE! O] 2f A OO M| = 12,000 12,000
EEN 21F X5 = HE 535 17,000 17,000
O AL LEXHE 1: O] &fet 7H& < 4 =2ol& 13,000 13,000
or2|ol =2 HWal 1 EFE|OFL} A& 7}Ehof 2o 14,000 1 14,000
of2|e] & YRl 2 EFE|OFLE A& 2 7H2H0{ 20| 14,000 1 14,000
or2|ol =2 Bl 3 EFE|OFL} A& HELY Y 14,000 1 14,000
O &1 22714 O] OFAIE} ofOF RS 15,000 1 15,000
OFHMALE 63 ARLR 22 o225 15,800 1 15,800
ORM| ZOL|el HE & HExE SHO|E 16,800 16,800
O OHE N LN 16,800 1 16,800
o= 7| O|l=& Z 2 M0zl 0| 12,000 1 12,000
Of=z 7| N e B K] 16,800 1 16,800
OS2 o g4 2|3 ot ML= 13,000 1 13,000
022 X[AH2H &7t =X2| Hal 14,000 1 14,000
OFX| 9 X| = X ZFRE Ag|AEL =28 Mol=x 17,000 1 17,000
THLEE AL SO0LEAE 24H 7| w34k 2 Ch= A CH 20,000 1 20,000
TETHO| WA 1T LF A 52 Ha 8,500 1 8,500
Tt0| = At SX| 52& Ha 8,500 1 8,500
TH30| 2t Of & 02| ZOFX| 52 Ha 8,500 1 8,500
Thobd ARTI S|ZA|0r 02 CHAFO{ 20| 10,500 1 10,500
ol2 2= 32 Bt 1~3 rApy K= 7HA| I Of 49,600 1 49,600
S0 AL H|Y INEETNIIEE] 2g 15,500 1 15,500
SEROIA B X2 = Rl Ml 28 16,800 1 16,800
SHE 0| Aol H KHEE(X) =24 14,500 1 14,500
of % OF2 3 AtE OFEZ} AHAZ 15,800 1 15,800
WEPY 01 MEA 3 o|Md=F =sts4| 12,500 1 12,500
HF, A 1S3l 0|0f ol Talex, vied 2oz, 4u 2=y |CFHE 14,000 1 14,000
R AR EHRL2 or2d ZH0{El0| 13,000 1 13,000




A, OFX|2F FEHO|A 2tAE HAS bSOt (X I, 2 A AR 15,000 1 15,000
HEMY A|E 1~10H PtEL|R =24 96,000 1 96,000
o2 Qb= APAE WX} O E FLIOJZ G At 14,000 1 14,000
FotE DtLbE MfED OLELHR 848 e AEFL[ O] 9,000 1 9,000
25 H IjZ0|of 440 AEXF0{ 20| 13,000 1 13,000
o5 AEo=z HO| B O3 o & STFL[O] 13,500 1 13,500
De|ef X[ A goid SEF=LH O 13,000 1 13,000
A2 ek 440 AXZO 0| 12,000 1 12,000
=227 HE A 52& He| 8,500 1 8,500
s=a&= HoH FAR:ENIPNE=S Mol=x 15,000 1 15,000
5X 3F K= 0| ef7tsel=E A 11,000 1 11,000
EME W E M A|OF AXEFO{EIO| 14,000 1 14,000
S ML0|2t 2AAUNQ? QATFI HEL| Lo Ab2p| 14,000 1 14,000
aeatd M4 | 12,000 1 12,000
F0| CHENt 435 &0l 13,000 1 13,000
FA0|E CHEFZ|KL 2d= CIE=EN 13,000 1 13,000
=70 Y 0|3 Dajet 15,000 1 15,000
O| 2T} £S5 7HE OtEtA AAE 16,800 1 16,800
OAHEZ|l= 2290 STt U= 0ts =07t 2 S0tA 13,800 1 13,800
OAHZ= EoYo F2ICt2 U =0t =0 7t 2 St 13,800 1 13,800
OjAHZl= 290 Z2I03 AdE20ts =07 = S0t 13,800 1 13,800
ISy E HA o|l&al CHECH 14,000 1 14,000
Aot Y& ZHK] =t 0|E oI O O R7|= 14,500 1 14,500
O E X3 %7 AO|Cf AAE 15,500 1 15,500
HELFLE 44724 EFLCE ]7[5|AF 293 13,500 1 13,500
HICHZ7L S2l= HelH 3 f=}i=] ObX|CH A3 15,500 1 15,500
HICHE 7 & o= I 2R A 15,000 1 15,000
HICHE E2|Ct 7| = Ot wax 82, 82 2UH-¢2o| L (QX5T) 16,800 1 16,800
HF2h ot 5 2t SHL= Hal 11,000 1 11,000
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22| HIlet A M= (Sh g0l t. ZGA 12,000 1 12,000
HaC o|ZXx 1~108 ME EAHAECQ ] 12,000 o[ 120000
B2 ZE|E E0tsf? rAPNE=IPNE=S AHAE 13,000 1 13,000
B[R MEHI T HWAF S AT OEl AROE gelolc|of 16,000 1 16,000
=2elE EETV 2E ME2E2FA 12,000 1 12,000
=2te1E 3 EETV HE MEZ 23t 12,000 1 12,000
=2t2lE 4 FETV AE ME2E3FA 12,000 1 12,000
=2telE 5 EETV HE MEZEZ3tA 12,000 1 12,000
=2elE EETV 2E ME2E3FA 12,000 1 12,000
=21 E 7 ZHETV AE MEE3IA 12,000 1 12,000
HIEH S&e| H[E 477 SFE=THAL 15,300 1 15,300
HI2 & Fot X 02 = ThAL 14,000 1 14,000
Sl A ol&78 Qo|stn 14,500 1 14,500
& E 10| Of HE82 NEEFE 13,000 1 13,000
SlLt= AFQI X=d FE&FLO 13,800 1 13,800
Wzt gof 7 Foy Ha Ha 15,000 1 15,000
et sofa sy Mo ¢t E2|= i S0of2 =S 14,000 1 14,000
Wete {2 HE OHiS Ml Xd2 E7d 12,800 1 12,800
AAE YEf HE HFE M7iolHtEt 13,000 1 13,000
MAE EH2 4 Ol At 18,000 1 18,000
AMAHEEZ SHAY a4 =2 11,000 1 11,000
AR SK| Ak 27 0] 1 Z=0 A S 14,500 1 14,500
Atat= O A = #OF HojH E 2t=4 =5 X0 16,800 1 16,800
AtepZl ope| & Bl FL O A GAL 14,800 1 14,800
At2tRl HEZEO| HIO2 SHEIZTHAL 13,000 1 13,000
AtATE AR SO{F= FIHH| =N, HE2A 16,000 1 16,000
ALO[H ZhEtALLY, R2|= 25 EO|Ct ozl 22 2202y 17,500 1 17,500
AME2 HE 2 S0 52T He| 8,500 1 8,500
20{ 7t LIEFEICH Holzl 7| = 10,000 1 10,000




ARZE Lt of A g Flo|ojo = I o S 10,000 1 10,000
M AIZ ¢ o & Z[Ef = (Fetm A 2x 18,000 1 18,000
Aol Otate 2 FOI8 g20|2j 13,000 1 13,000
M 22| otol= =20l 2y 13,000 1 13,000
MM, HEI2 of HI[Lte? do|=x Hao F3 13,000 1 13,000
MMYD oL 7L Uy FE XK 25 1544 PR X2 A O 14,000 14,000
M g0 Flof I HE O|Al2 221 HHL 50,000 1 50,000
UMl H=X| CHEE14 CHEO}O| CHEOLO| 11,000 1 11,000
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